

$$\Lambda \cos x = 1 + \tan^2 x = \frac{1}{\cos^2 x} \rightarrow \Lambda \cos^2 x = 1 \rightarrow \cos x = \frac{1}{\sqrt{2}} \rightarrow x = \frac{\pi}{4}, \frac{5\pi}{4}$$

۱۱
۲ جواب

$$y = \omega \sin^2 x + \gamma \cos(2x) = -\gamma$$

و
- γ $\rightarrow y > -\gamma$ $\rightarrow$ شرط لازم

اگر $\sin^2 x$ برابر ۰ نباشد γ هست پس شرط لازم

بسی $y = -\gamma$ $\sin x = 0$ است $\rightarrow y = \gamma \cos(2x) = -\gamma \rightarrow \cos(2x) = -1 \rightarrow 2x = 2k\pi + \pi$

$\hookrightarrow x = k\pi$

$x = \left(\frac{2k'+1}{2}\right)\pi$ $\left\{ \begin{array}{l} x = -\pi, \pi \end{array} \right.$ جواب $\hookrightarrow x = \left(\frac{2k'+1}{2}\right)\pi$

$$\gamma \sin x \cos(2x) + \sin x = 1 \rightarrow \sin x$$

$$\gamma \sin x (1 - \gamma \sin^2 x) + \sin x - 1 = 0 \rightarrow \gamma t - \gamma^3 t^3 + t - 1 = 0$$

$t = \sin x$

$$\gamma t^3 - \gamma^3 t + 1 = 0 = (t+1)(\gamma t^2 - \gamma^3 t + 1) = (t+1)(\gamma t - 1)^2 = 0$$

$$\begin{aligned} t_1 = \sin x_1 = -1 &\rightarrow x_1 = \frac{3\pi}{2} \\ t_2 = \sin x_2 = \frac{1}{\gamma} &\rightarrow x_2 = \frac{\pi}{6}, \frac{5\pi}{6} \end{aligned} \left\{ \oplus \rightarrow \frac{5\pi}{6} \right.$$

$$\frac{1}{\sin\left(\frac{\pi}{6} + 2x\right)} + \frac{1}{\cos\left(\frac{\pi}{6} + 2x\right)} = \frac{1}{\cos(2x)} + \frac{1}{-\sin 2x} = 0$$

$$\Rightarrow \frac{1}{\cos 2x} = \frac{1}{\sin 2x} \rightarrow \frac{\sin 2x}{\cos 2x} = \frac{\gamma \sin 2x \cos 2x}{\cos 2x} = \gamma \sin 2x = 1 \rightarrow \sin 2x = \frac{1}{\gamma}$$

$$\hookrightarrow \cos 2x, \sin 2x \neq 0 \left\{ \begin{array}{l} 2x = 2k\pi + \left\{ \frac{\pi}{\gamma}, \frac{5\pi}{\gamma} \right\} \rightarrow x = k\pi + \left\{ \frac{\pi}{2\gamma}, \frac{5\pi}{2\gamma} \right\} \end{array} \right.$$

$$|\Delta x| = \frac{5\pi}{2\gamma} - \frac{\pi}{2\gamma} = \frac{\pi}{\gamma} \rightarrow \tan(2x) = \tan\left(\frac{\pi}{\gamma}\right) = -\sqrt{3}$$

$$m(\cos x - \sin x) - 2\sqrt{6} \sin(2x) = \sqrt{6}$$

$$\cos\left(x + \frac{\pi}{4}\right) = \frac{\sqrt{2}}{\sqrt{6}}(\cos x - \sin x) = \frac{1}{\sqrt{3}} \rightarrow \cos x - \sin x = \sqrt{\frac{2}{3}}$$

$$\Rightarrow 1 - \gamma \sin x \cos x = 1 - \sin 2x = \frac{\gamma}{\sqrt{3}} \rightarrow \sin 2x = \frac{1}{\sqrt{3}}$$

$$\Rightarrow \sqrt{\frac{2}{3}} m - 2\sqrt{6} \times \frac{1}{\sqrt{3}} = \sqrt{6} \rightarrow m = \frac{2\sqrt{6}}{\frac{\sqrt{2}}{\sqrt{3}}} = 4$$

$$\cos\left(x - \frac{\pi}{4}\right) \times \underbrace{\sin\left(x + \frac{\pi}{4}\right)}_{\cos\left(\frac{\pi}{4} - x\right)} = \cos^2\left(x - \frac{\pi}{4}\right) = 1 \rightarrow \sin^2\left(x - \frac{\pi}{4}\right) = 0 \quad (4)$$

$$\rightarrow x - \frac{\pi}{4} = k\pi \rightarrow x = \frac{\pi}{4} + k\pi \rightarrow x = \frac{\pi}{4}, \frac{5\pi}{4} \quad \text{جواب ٢} \quad (5)$$

$$\frac{1}{\sqrt{2}} \sin x + \frac{\sqrt{2}}{\sqrt{2}} \cos x = \frac{\sqrt{2}}{\sqrt{2}} \quad (6)$$

$$\cos\left(\frac{\pi}{4}\right) \sin x + \sin\left(\frac{\pi}{4}\right) \cos(x) = \sin\left(x + \frac{\pi}{4}\right) = \sin\left(\frac{\pi}{4}\right)$$

$$\cancel{\text{MAJRA}} \quad x + \frac{\pi}{4} = \frac{\pi}{4}, \frac{3\pi}{4} + 2k\pi$$

$$x + \frac{\pi}{4} = +\frac{\pi}{4}, \frac{3\pi}{4}, \frac{9\pi}{4} \rightarrow x = -\frac{\pi}{4}, \frac{2\pi}{4}, \frac{8\pi}{4} \rightarrow \frac{9\pi}{4} \quad \text{جواب ٣}$$

$$\sqrt{2} \sin x \sin\left(\frac{3\pi}{4} - x\right) = -\sqrt{2} \cos x \sin x = 1 \rightarrow \sin 2x = -\frac{1}{\sqrt{2}} \quad (7)$$

$$2x = 2k\pi + \frac{5\pi}{4}, \frac{11\pi}{4} \rightarrow x = k\pi + \frac{5\pi}{8}, \frac{11\pi}{8} \rightarrow x = \frac{5\pi}{8}, \frac{11\pi}{8}, \frac{13\pi}{8}, \frac{19\pi}{8} \quad \text{جواب ٤}$$

$$(1 + \cos 2\alpha)(1 + \cos 4\alpha)(1 + \cos 8\alpha) = (\sqrt{2} \cos^2 \alpha)(\sqrt{2} \cos^2 2\alpha)(\sqrt{2} \cos^2 4\alpha) \quad (8)$$

$$\frac{1 + \sin^2 \alpha}{\sin^2 \alpha} \cos^2 \alpha \cos^2 2\alpha \cos^2 4\alpha = \frac{1 + \sin^2 8\alpha}{\sin^2 8\alpha} = 1 \rightarrow \sin^2 8\alpha = \sin^2 \alpha$$

$$\left\{ \begin{array}{l} \sin \alpha \neq 0 \rightarrow 8\alpha = \alpha + 2k\pi \rightarrow \alpha = \frac{2k\pi}{7} \\ k, k' \neq 0, k \neq 7, k' \neq 7 \end{array} \right. \quad \left\{ \begin{array}{l} \sin^2 x = \sin^2 y \\ x - y = k\pi \\ x + y = k'\pi \end{array} \right.$$

$$A = \left\{ \frac{\pi}{7}, \frac{2\pi}{7}, \dots, \frac{6\pi}{7}, \frac{8\pi}{7}, \frac{9\pi}{7} \right\} \rightarrow \max\{A\} = \frac{9\pi}{7}$$

$$\tan(2x) = \cot x = \tan\left(\frac{\pi}{2} - x\right) \rightarrow 2x = \frac{\pi}{2} - x + k\pi \quad (9)$$

$$\rightarrow x = \frac{k\pi}{3} + \frac{\pi}{6} \quad [x, 2\pi] \quad x = \frac{9\pi}{6}, \frac{11\pi}{6}, \frac{13\pi}{6}, \frac{15\pi}{6} \rightarrow 9\pi$$